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Nob : Question No, 1 is compulsory, answer any FIVE questlonsfrom thc remiining,

(ii) fro yr+ * sfi wl d ifrqqn W wer d-d frfuL t
Sotve all pans of a qucstion consecutively togetlur.

(iii) y'do yw ol # 7r t trw frfuil t
Snn each qucstion onfresh page

(iv) qlrl n.**l#ery76p1 6 pfr t aitfr drEen fr qH t t
Onty English version is valid in case of difference in both the langw,ges.

1. (i) wrr*-mdqfunfucfrfrt r

Define Productivity.

(ii) tqdqqwrtttt r
Whatis Template ?

Giil ymq qr{ fr lgffi rffi Eh} Tilrd I

Give symbols used in process charts.

(iv) qiQirs{mnqsr{q 
r

Explain Amortization.

(v) S.fr.!tr.qrJfr srdil(HEfrftr+ I

Differentiate between C.P.M. & P.E.R.T. (2×5)

P.T。0。
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(il K-qfi ftTadrdq.d.fr. fcveqursl qqsr$+ t

Explain A-B-C analysis in inventory control.

(ii) fuS sq}rr { qs gtq{q fr qrffs utrd 12000 err t I qG $ft 6lrm vfr 3TAFI

? I s0 mn ql-r1{ q6r Hrrr6 sftr sffiE sM ? 10 E} fr lM sreGrd qrdr

ilr qE-{S fr rPdq{ if"€ ErFkT iTrd frfut r

ln an industry the annual consumption of an item is 12000 units. If procurement

cost per order is ? 150 and the inventory carrying cost per"item per year is ? 10,

then find the economic ordering quantity and total inventory cost Per year. (6+6)

3. (i) Hdfrft wfiffqftrnqftrfut+iqtfrsmtslqefrtqlqTilIt?
Define method study and how it is performed ?

(ii) rrft tr6cqftil + ftEIRlq1 {qsr{+ I

Explain principles of Motion economy. (6■6)

= 0甲
柿 爾 輛 輔 甲 マ7,000t櫛和 ボ ЧttЦ l囀制 導 繭 輌 で2,500て

TITI I繊 鮒N諭 蘇 哺 ■ 3%台 命 郡 hn卸 野や鳥 ボ 司 早
`Hl田

摘 |                            

｀

The initial cost of a machine isで 7,000 and scmp value ater 3 years isで 2,500。 If

綱鯰 of inttrest is 3%per year,then働ld out the depuiation of every year by

i Amuity method.
・

(五)P¬むけ C¬だ哺 鍮 金U暉轟≧|           
・

Explain in detail P‐ chart&C‐ chart。

5。  (1)き衰Tl輛

'論

,即熙屈nlマて向 爺 含di。こ爺 書奇粛鋼 t?
Explain Tmvel chart.How h is usemlin making good Plantlayout?

(五)h鋪 哺赫哺 れ隔 爛Hq雨翻改 :

Find outthe standard time usmg the fouowing data:

柿
…

■■3市87嘲Hq.6 min

Average dme for machne dements=6 mn

輛 Jqqq市 鍮 爛‖q=4 min

Average time for trlanual elenlents=4 min

mM断 =1 lo96       ・
Perfo―nce Rating=110%     

′

マ =10%
Allowances=10%               ^

(C,116)
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6. (i) qrqfirl|R{gqfioil*qqidt$flpqilsdqr&Ircs}dig{d t ..=t

Explain the various factors affecting selection of materialhandlingcquipments.

(u) ITTaur qzT ( oIFI iFII Hqti t f srffiq gqrfl fTqaEr n frTar qra iFH ilC

what do you underotand by control charts ? [Iow they are advanlagrcus
statistical quality control ? '

7. (i) AqEE Air B firq{frfr M, M2E Mg q(ftf{ilfiqrfi t I rffr Frtrhql,iqrttrr,
q{h fi gqil6rdr iln sfd s,rt ilq {tE frq qq t :

tnfi?

M

tfu'nqqq (euttl
―

   (コ咆1)
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囲
vftwtam ttll 10 12

uS'rFrdq Fq fr qo frfqq e ftrg+ffifEft t w frfuq r

Two things A & B are manufactured on three rnachines Mr,.lr{r& Mr. operation
time per unit, machine availability and profit per unit are give,n below :

Machlne

M

Operatlng llme (ln hr.) Avmbmty ttLhrl)

A ・Ｂ

Ｍｌ

鴫

Ｍ３

２

　

　

３

　

　

１

３

　

　

２

　

　

１

r500

1500

1000

Profrt per Plece (ln O 10 12

Formulate this in mathematical form and solve by srmplex method.

itlq wT, rilF Yf,Tr6r q.r rr(rsrc+wr u0 t ?

what is lob Production, Batch hoduction and Mass production ? . (e+3)

P.T.O.
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8. ftqq(dfuEfrsFdftfut:
- Writc short notes on the following :

(i) 
"qq"rtftt
Break Even Point

(iii) ulftffin
Codification

い。“　呻
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